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CONCEPTS BASIC INTERMEDIATE ADVANCED
Graphing Quadratics 1 1 1253
Vertex 1 1 =5
Axis of Symmetry 1 il l+2;°3
Minimum/Maximum Value 4,5
Increasing/Decreasing 5 4 |
Domain/Range 4 :
x-intercept(s) ’ . il 1 17

1. Graph the“function. Label the x-intercept(s), vertex, and axis of symmetry on the

graph.

a y=-(x-2>%+4

b. g(x) = 2(x + 1)* -
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c. p(x)=0.75x*>-5
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d. .y = (X +,3)(x - 3)
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. Use the axis of symmetry to plot the reflection of

e. y=(x+})(x—3)
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g y=4(x-7)
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f. f(x) =-2(x - 3)?
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each point and complete the parabola.

. Graph the tlﬁl_c_t_i_o_r_L. Label the vertex and axis of symmetry on the graph.

a. y=-4x>+8x+2
b. y=—§x2—4x—1

EXTYo . pares

. Find the minimum/maximum value of the function. Describe the domain and range of

the function in interval notation, and where the function is increasing and decreasing.
T

a. y=6x—-1
2 Z
b. y=9x+7 SICS = -375x°+23.2¢x 1358

The engine torque y (in foot-pounds) of one model of car is given (|n thousands of

revolutions per minute) of the engine. whert X (St S,OPt(/
a. Find the engine speed that maximizes torque. What is the maximum torque?

PW b. Explam what happens to the engine torque as the speed of the engine increases.
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Rate your mastery level!
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